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BR7 D~k BERE &, [R7OA#K I EEIREICEFH TR RINET |
No. B WEL | A |SEOHE] FToHR] B ws | (BRY ;;ﬁgﬁ"ﬁ—@i BRIT0D REFKE | ANFIvY
L BEUHL %
W y2 y1 Z U
[m] [m] [m] [m] [W/(m-K)]
1 10 7 NED | K7D 0.92 2.33 1.840
2 1R H SNED | K7Q 0.78 1.91 1670
3
4
5
"RADBY OB, THLLL TABEQMLRR], TR7OMLRR ). &), T3 122 TADLTESNT
xy1 IBKRANDEAE. fo. fHEESTHELES
BEOTERTHRG A MBVE R |, [BRO4HK I ZRBIRBRICEBHTRRINET |
No. | B | mEs | s |me-nE|mocw| B B | (ARTEM-BE BRI RESE | ANFIvY
D EB R BBYHL %
w y2 y1 * Z % U
[m] [m] [m] [m] [W/(ni-K)]
1 1B |k— = SLEED %=1 0.74 110 0.86 =Y
2 10 [K H HLEED) 722 0.74 0.50 0.86 EH
3 10 [K ® SLEED =3 0.74 0.50 0.86 =
4 1 |K G SLEED =4 0.74 150 0.86 EH
5 1% LD ] SLEED =5 0.74 2.00 0.86 Y
6 1B LD & SLEED %6 1,65 2.00 0.92 EH
7 1B [LD i SLEED =7 0.74 2.00 0.86 EH
8 TR [ i SLEED 7%=8 1,65 1.30 0.92 EH
9 1B =2 & SLEED %9 165 1.30 0.92 EH
10 1R |2 7 SLEED %10 119 0.43 0.92 EH
11 1B |scL i SLEED =11 0.60 0.50 0.85 =H
12 1B |xBKR—L| 4 SLEED 7212 0.74 1.10 0.92 EY
13 10 |wC i SLEED %13 0.60 0.50 0.92 =H
14 1B |weL 1 SLEED %214 0.60 0.50 0.92 =Y
15 1B |/NEAY I SLEED %15 119 110 0.86 =Y
16 1#  |UB 1 SLEED %216 0.60 0.50 0.92 Y
17 g [UT i+ SLEED %17 0.74 0.90 0.92 =Y
18 10 |BFO B8 SLEED 718 0.74 0.90 0.86 EY
19 OB |3 = HLEED) 719 119 0.43 0.86 EH
20 o8 |3 = SLEED %220 119 0.43 0.86 EH
21 2B =3 G SLEED 72221 1,65 1.30 0.86 EH
22 OBt |k—iL & SLEED Yy, 165 1.80 0.86 =Y
23 2B [R—u 7 SLEED 7223 0.74 0.70 0.86 EH
24 o8 [mmEx 7 SLEED %24 0.74 0.70 0.92 EH
25 2B |wFE i s1EED 7225 0.74 0.70 0.86 EH
26 OB |WE 1 HLEED 7226 0.60 0.90 0.86 EH
27 2B [we i+ SLEED %27 0.60 0.50 0.92 EH
Z
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- o A
No. | B | mEE | s | NED | B2 IA220) & FRim | ms | WML | mR | MEME | RAWAL | NRDE v | 1ey2) iE T BESEE R
= EEAE 3% x s eo BHAE | sume | FHRISE | panmes
W y1 y2 Z A u AXUxH nd 21 02 1 f2 fo ve | nolngxfo) | AXngx v
[m] [m] [m] ml | [l | IwW/fR01| WKl | =1 | 0=1 | =1 | =1 | 1=l | -] [—] [-] [W/K]
1 10 |R—IL £ HLEED =1 3 0.74 1.10 0.81 0.86 0.70 0.29 20.00 20.00 0.825 0.825 0.930 0.503 0.270 0.110
2 16 K ® HLEED =2 3 0.74 0.50 0.37 0.86 0.32 0.29 20.00 20.00 0.825 0.825 0.930 0.503 0.270 0.050
3 10 K = AL EED =3 3 0.74 0.50 0.37 0.86 0.32 0.29 20.00 20.00 0.825 0.825 0.930 0.503 0.270 0.050
4 10 (K 3] AL EED =4 3 0.74 1.50 1.11 0.86 0.95 0.29 20.00 20.00 0.734 0.734 0.930 0.507 0.270 0.152
5 10 (LD 3] AL EED &5 3 0.74 2.00 1.48 0.86 1.27 0.29 20.00 20.00 0.734 0.734 0.930 0.507 0.270 0.202
6 1B& |LD ] HLEED =6 3 1.65 2.00 3.30 0.92 3.04 0.28 20.00 20.00 0.734 0.734 0.930 0.507 0.260 0.436
7 16 (LD ] S EED =7 3 0.74 2.00 1.48 0.86 1.27 0.29 20.00 20.00 0.734 0.734 0.930 0.507 0.270 0.202
8 16 |F=T 3] AL EED =8 3 1.65 1.30 2.15 092 1.97 0.27 20.00 20.00 0.734 0.734 0.930 0.507 0.251 0.273
9 16 =2 3] AL EED =9 3 1.65 1.30 2.15 0.92 1.97 0.27 20.00 20.00 0.734 0.734 0.930 0.507 0.251 0.273
10 | 10& |F=2 i) HAEED =10 3 1.19 0.43 0.51 0.92 0.47 0.27 20.00 20.00 0.827 0.827 0.930 0.529 0.251 0.068
11 1B |SCL [id] AL EED =11 3 0.60 0.50 0.30 0.85 0.26 0.29 20.00 20.00 0.827 0.827 0.930 0.529 0.270 0.043
12 | 1R |XBER—IL 4 L EED =12 3 0.74 1.10 0.81 0.92 0.75 0.29 20.00 20.00 0.796 0.796 0.930 0.341 0.270 0.075
13 | 1 [WC b HLEED =13 3 0.60 0.50 0.30 092 0.28 0.29 20.00 20.00 0.796 0.796 0.930 0.341 0.270 0.028
14 | 1p& |WCL it AL EED =14 3 0.60 0.50 0.30 092 0.28 0.29 20.00 20.00 0.796 0.796 0.930 0.341 0.270 0.028
15 | 1B& [/NEAVY it AL EED =15 3 1.19 1.10 1.31 0.86 1.13 0.29 20.00 20.00 0.796 0.796 0.930 0.341 0.270 0.120
16 | 16& |UB = SV EED =16 3 0.60 0.50 0.30 0.92 0.28 0.29 20.00 20.00 0.796 0.796 0.930 0.341 0.270 0.028
17 | 1B& (UT =4 S EED =17 3 0.74 0.90 0.67 0.92 0.61 0.29 20.00 20.00 0.796 0.796 0.930 0.341 0.270 0.061
18 | 1 |BF0 4 HLEED =18 3 0.74 0.90 0.67 0.86 0.57 0.29 20.00 20.00 0.796 0.796 0.930 0.341 0.270 0.061
19 | 2B% |*¥=3 = AL EED =19 3 1.19 0.43 0.51 0.86 0.44 0.29 20.00 20.00 0.825 0.825 0.930 0.503 0.270 0.069
20 | 2B% |FZ=E3 £ AL EED =20 3 1.19 0.43 0.51 0.86 0.44 0.29 20.00 20.00 0.825 0.825 0.930 0.503 0.270 0.069
21 | 2B% |FZ=E3 3] AL EED =21 3 1.65 1.30 2.15 0.86 1.84 0.29 20.00 20.00 0.734 0.734 0.930 0.507 0.270 0.293
22 | 28 |’R—IL ] HLEED =22 3 1.65 1.80 2.97 0.86 2.55 0.29 20.00 20.00 0.734 0.734 0.930 0.507 0.270 0.406
23 | 2F% |R—IL [id] HLEED =23 3 0.74 0.70 0.52 0.86 0.45 0.29 20.00 20.00 0.827 0.827 0.930 0.529 0.270 0.074
24 | 2F% |PEEX i) A-10) =24 3 0.74 0.70 0.52 092 0.48 0.29 20.00 20.00 0.827 0.827 0.930 0.529 0.270 0.074
25 | 2F% WP i AL EED =25 3 0.74 0.70 0.52 0.86 0.45 0.29 20.00 20.00 0.827 0.827 0.930 0.529 0.270 0.074
26 | 2F% MR it HLEED =26 3 0.60 0.90 0.54 0.86 0.46 0.29 20.00 20.00 0.796 0.796 0.930 0.341 0.270 0.050
27 | 2F% |WC =4 SV EED =27 3 0.60 0.50 0.30 0.92 0.28 0.29 20.00 20.00 0.796 0.796 0.930 0.341 0.270 0.028
a5t 26.91 23.82 3.398
] 16.78 14.88 2.238
£ 2.58 222 0.350
i 5.20 463 0.478
i) 2.37 2.09 0.332
S 0.00 0.00 0.000
|- 0.00 0.00 0.000
Bl i} 0.00 0.00 0.000
[0 0.00 0.00 0.000
EiR- tHE 0.00 0.00 0.000
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R OEHE M (RE)

- o BB
No. | B | mEE | s | NED | B2 IA220) & FRim | ms | WML | mR | MEME | RAWAL | NRDE v | 1ey2) iE T BESEE R
= EEAE 3% x s eo BHAE | sume | FHRISE | panmes
W y1 y2 Z A u AXUxH nd 21 02 1 f2 i, vy | nu(ngxfi) | AX nux vy
[m] [m] [m] ml | [l | IwW/fR01| WKl | =1 | 0=1 | =1 | =1 | 0=l | -] [—] [-] [W/K]
1 10 |R—IL £ HLEED =1 3 0.74 1.10 0.81 0.86 0.70 0.29 20.00 20.00 0.819 0.819 0.510 0.554 0.148 0.067
2 16 K ® HLEED =2 3 0.74 0.50 0.37 0.86 0.32 0.29 20.00 20.00 0.819 0.819 0.510 0.554 0.148 0.030
3 10 K = AL EED =3 3 0.74 0.50 0.37 0.86 0.32 0.29 20.00 20.00 0.819 0.819 0.510 0.554 0.148 0.030
4 10 (K 3] AL EED =4 3 0.74 1.50 1.11 0.86 0.95 0.29 20.00 20.00 0.825 0.825 0.510 0.856 0.148 0.141
5 10 (LD 3] AL EED &5 3 0.74 2.00 1.48 0.86 1.27 0.29 20.00 20.00 0.825 0.825 0.510 0.856 0.148 0.187
6 1B& |LD ] HLEED =6 3 1.65 2.00 3.30 0.92 3.04 0.28 20.00 20.00 0.825 0.825 0.510 0.856 0.143 0.403
7 16 (LD ] S EED =7 3 0.74 2.00 1.48 0.86 1.27 0.29 20.00 20.00 0.825 0.825 0.510 0.856 0.148 0.187
8 16 |F=T 3] AL EED =8 3 1.65 1.30 2.15 092 1.97 0.27 20.00 20.00 0.825 0.825 0.510 0.856 0.138 0.253
9 16 =2 3] AL EED =9 3 1.65 1.30 2.15 0.92 1.97 0.27 20.00 20.00 0.825 0.825 0.510 0.856 0.138 0.253
10 | 10& |F=2 i) HAEED =10 3 1.19 0.43 0.51 0.92 0.47 0.27 20.00 20.00 0.821 0.821 0.510 0.544 0.138 0.038
11 1B |SCL [id] AL EED =11 3 0.60 0.50 0.30 0.85 0.26 0.29 20.00 20.00 0.821 0.821 0.510 0.544 0.148 0.024
12 | 1R |XBER—IL 4 L EED =12 3 0.74 1.10 0.81 0.92 0.75 0.29 20.00 20.00 0.801 0.801 0.510 0.263 0.148 0.032
13 | 1 [WC b HLEED =13 3 0.60 0.50 0.30 092 0.28 0.29 20.00 20.00 0.801 0.801 0.510 0.263 0.148 0.012
14 | 1p& |WCL it AL EED =14 3 0.60 0.50 0.30 092 0.28 0.29 20.00 20.00 0.801 0.801 0.510 0.263 0.148 0.012
15 | 1B& [/NEAVY it AL EED =15 3 1.19 1.10 1.31 0.86 1.13 0.29 20.00 20.00 0.801 0.801 0.510 0.263 0.148 0.051
16 | 16& |UB = SV EED =16 3 0.60 0.50 0.30 0.92 0.28 0.29 20.00 20.00 0.801 0.801 0.510 0.263 0.148 0.012
17 | 1B& (UT =4 S EED =17 3 0.74 0.90 0.67 0.92 0.61 0.29 20.00 20.00 0.801 0.801 0.510 0.263 0.148 0.026
18 | 1 |BF0 4 HLEED =18 3 0.74 0.90 0.67 0.86 0.57 0.29 20.00 20.00 0.801 0.801 0.510 0.263 0.148 0.026
19 | 2B% |*¥=3 = AL EED =19 3 1.19 0.43 0.51 0.86 0.44 0.29 20.00 20.00 0.819 0.819 0.510 0.554 0.148 0.042
20 | 2B% |FZ=E3 £ AL EED =20 3 1.19 0.43 0.51 0.86 0.44 0.29 20.00 20.00 0.819 0.819 0.510 0.554 0.148 0.042
21 | 2B% |FZ=E3 3] AL EED =21 3 1.65 1.30 2.15 0.86 1.84 0.29 20.00 20.00 0.825 0.825 0.510 0.856 0.148 0.272
22 | 28 |’R—IL ] HLEED =22 3 1.65 1.80 2.97 0.86 2.55 0.29 20.00 20.00 0.825 0.825 0.510 0.856 0.148 0.376
23 | 2F% |R—IL [id] HLEED =23 3 0.74 0.70 0.52 0.86 0.45 0.29 20.00 20.00 0.821 0.821 0.510 0.544 0.148 0.042
24 | 2F% |PEEX i) A-10) =24 3 0.74 0.70 0.52 092 0.48 0.29 20.00 20.00 0.821 0.821 0.510 0.544 0.148 0.042
25 | 2F% WP i AL EED =25 3 0.74 0.70 0.52 0.86 0.45 0.29 20.00 20.00 0.821 0.821 0.510 0.544 0.148 0.042
26 | 2F% MR it HLEED =26 3 0.60 0.90 0.54 0.86 0.46 0.29 20.00 20.00 0.801 0.801 0.510 0.263 0.148 0.021
27 | 2F% |WC =4 SV EED =27 3 0.60 0.50 0.30 0.92 0.28 0.29 20.00 20.00 0.801 0.801 0.510 0.263 0.148 0.012
a5t 26.91 23.82 2.673
] 16.78 14.88 2.072
£ 2.58 222 0.211
i 5.20 463 0.202
i) 2.37 2.09 0.187
S 0.00 0.00 0.000
|- 0.00 0.00 0.000
Bl i} 0.00 0.00 0.000
[0 0.00 0.00 0.000
EiR- tHE 0.00 0.00 0.000





















